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QUESTION NO: 1 
 
In the European Telco case, one of their immediate needs is to _________.
 
 
A. protect privacy of call records for compliance with data privacy laws 
B. meet governance requirements 
C. optimize database usage 
D. migrate from Oracle to Microsoft database technology 
 

Answer: A
Reference: http://www.slideshare.net/nazeer325/ibm-infosphere-guardium-overview (slide 26, see
Need)
 
 
 

 

 

QUESTION NO: 2 
 
Which of the following is false?
 
 
A. Oracle Audit Vault does not rely on native logs. 
B. Oracle Database Audit/Vault does not enforce separation of duties. 
C. Oracle Database Vault does not support heterogeneous DB environments 
D. Oracle Database/Audit Vault does not provide real-time monitoring and alerting. 
 

Answer: B
Reference:
http://docs.oracle.com/cd/E10262_01/doc/server.920/b32509/dv_impact.htm#CEGEGCAD 
 
 
 

 

 

QUESTION NO: 3 
 
According to Verizon Business 2009 Data Breach Report, the majority of compromised
data__________?
 
 
A. occurs on database server level 
B. resides outside of the firewall 
C. is a result of laptop theft 
D. happens because of insecure storage devices 
 

Answer: A
Reference: http://www.verizonbusiness.com/resources/security/reports/2009_databreach_rp.pdf
(page 24, see Table 4)
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